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Chapter 3 Review

Matching

____1.  the biochemical units of heredity.

____2.  twins that develop from a single egg.

____3.  a set of expected behaviors 
____4.  twins that develop from separate eggs.

____5.  variation among individuals due to genes.

____6.  a complex molecule containing the genetic information that makes up the chromosomes.

A. X chromosome

B. Heritability

C. Fraternal

D. Genes

E. DNA

F. Identical

G. Y chromosome

H. Social norms
I. Gender-typing

J. Memes

Multiple Choice

1. If chromosomes are the “books” of heredity, the “words” are the _________ an the “letters” are the ___________.

A. genes; nucleotides

C. genes; DNA

B. nucleotides; genes

D. DNA; genes
2.  To say that the heritability of a trait is approximately 50% means that
A. genes are responsible for 50% of the trait in an individual, and the environment is responsible for the rest.

B. the trait’s appearance in a person will reflect approximately equal genetic contributions from both parents.

C. of the variation in the trait within a group of people, 50% can be attributed to genes.

D. all of the above are true.
3.  After comparing divorce rates among identical and fraternal twins, Dr. Alexander has concluded that genes do play a role.  Dr. Alexander is most likely a(n)



A. evolutionary psychologist

C. molecular geneticist


B. behavior geneticist


D. divorcee
4.  Chad, who grew up in the US, is more likely to encourage ___________ in his future children that Asian-born Hidiyaki, who is more likely to encourage _________ in his future children.



A. obedience; independence


C. emotional closeness; obedience



B. independence; emotional closeness

D.  loyalty; emotional closeness
5.  I am part of an “alphabet” that consists of four letters, the sequence of which is nearly identical in all humans.  What am I?



A.  a molecule of DNA.


C. a chromosome.


B.  a gene.




D. a nucleotide.
6.  Despite growing up in the same home environment, Karen and her brother John have personalities as different from each other as two people selected randomly from the population.  Why is this so?


A.  Personality is inherited.  Because Karen and John are not identical twins, it is not surprising they have very different personalities.
B.  Gender is the most important factor in personality.  If Karen had a sister, the two of them would probably be much more alike.

C. The interaction of their individual genes and non-shared experiences accounts for the common finding that children in the same family are usually very different.

D.  Their case is unusual; children in the same family usually have similar personalities.
7.  I am a rat whose cortex is lighter and thinner than my litter mates.  What happened to me?



A. You were born prematurely


B. You suffer from fetal alcohol syndrome.


C. You were raised in an enriched environment.

D. You were raised in a deprived environment.


E. You did not imprint during the critical period.

8. One of the best ways to distinguish how much genetic and environmental factors affect behavior is to compare children who have



A.the same genes and environments.

D. similar genes and similar families


B.different genes and environments.

E. the same genes but different environments.


C. similar genes and environments.

9.  A psychologist working from the evolutionary perspective is likely to suggest that people are biologically predisposed to


A. protect their offspring




B. fear extreme heights.


C. be attracted to fertile-appearing members of the opposite sex.


D. do all of the above.
10.  A person whose twin has Alzheimer’s disease has _________ risk of sharing the disease if they are identical twins than if they are fraternal twins.



A.  less

B. about the same

C. much greater
D. It is unpredictable.
11.  Which of the following most accurately summarizes the findings of the 40-year fox-breeding study described in the text?
A. Wild wolves cannot be domesticated.

B. “Survival of the fittest” seems to operate only when animals live in their natural habitats.

C.  By mating aggressive and unaggressive foxes, the researchers created a mutant species.

D.  By selecting and mating the tamest males and females, the researchers have produced affectionate, unaggressive offspring.
12.  Compared to men, women are more likely to



A. be concerned with their partner’s physical attractiveness.


B. initiate sexual activity.


C. cite “liking one another” as justification for having sex in a new relationship.


D. be less accepting of casual sex
13.  Three-year-old Jack is inhibited and shy.  As an adult, Jack is likely to be


A. cautious and unassertive




B. spontaneous and fearless


C. socially assertive


D. None of the above

